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S v SECTIONI

Answer all the questions in this section

i. Evaluaie

o - s 2

| N SEEE | (3 marks)
RS

Ex%bmmmm 7056, each as a product of its prime factors,

=
A
. T —
& & [7056 »'eavingthe answer in prime factor form, {3 marks)

b

<

\\
(@ \ 3. Theareaofarhombus is 60cm? CGiven its di
. Q\ o Imcf:tsdsagona]s:s L5cra long, calculate, caloulate the
({\é\'\' perimeter rhombus, ' (3 marks)
4. Siamph ; ¢
naeplify the expresssion 912 _254%

6> +1%ar +154°

{3 miarks)

5 ; 2 :
The size of each interior angle of regular polygon in five times the size of the exterior angle,

. Find the number of the polygon
{3 marks)

.  Onthe diagram below, the fine whose ioni 3
v ki : eguanomis Tyv- 3+ 30 = :
Pﬁmmsmﬂmx«axiswhilcpoimpismﬁ 4 JII 30 ;ﬂxpmsesﬁ through the points A and B,

y-axis
2] /
X-BXiS
B
- -
Calculate the co-ordinates of the points A and B. (3
marks)
7. Acylindrical piece of wood of radius 4.2cm i . i
b L5 sy and length lSﬂmmsmtlewﬂlminmt“mequalpim
(Take mas ,, )
2 (4 marks)
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8. The figure below shows a quadrilateral ABED in which AB = 8cm, DC=12cm, ZBAD=45,

ZCBD =9¢° and £BCD =30°

M45u

a

J\A..'ﬂ——.-_,_,_\_ ]
— 8 ey ——_ B
(a) thelengthof BD (1 mark’
() thesizeofangleADB _ (1 mark)
9, Find the value of  in the equation 243 % 32 Cw
729%x3 +3%1 (3 marks)

10. In afund-raising committee of 45 people, the ratio of men to women 15 7:2, Find ﬂ;:lxumshe;r of women
- 203 st i i men to women is changed to 3¢
required to join the exisiling commitiee so that the ratio of men to £ ” n

1. Thediagram below is a part of a figure which has rotational symmetry of order 4 about O

L I I

ERE
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\
(aj Complete the figure 5 N {1 mark)

AN
(b) meaﬂﬂm!imofsynmﬁrynfﬂmmgpﬁ%ﬁgm {2 marks)
| v

12. Pipe A can fill an empty water tank in 3 hiours while, pipe B can fill the same tank in 6 hours. When
the tank is full it can be emptied by Cin 8 hours. Pipes A and B are opened at the same time
when the tank is empty. \%
Ij‘me:mim,pipeﬁisal(g%%pemiﬁndﬂwwmlﬁmemkmmﬁllﬂmm {4 marks)

13. The volumes of two similar solid cylinders are 4752cm® and 1408cm’, If the area of the curved
surface of the mﬂgg%t{@dﬂ is 352cm?, find the area of the curved surface of the larger cylinder
O

A\ ¢ {4 marks)
Q@
14. A Salesman a basic salary of sh 9 000 per month.

In addition heis also paid acommission of 5% for sales above sh 15000,

Ina th be sold goods werth sh 120000 at a discount of 2§%
his tota! earnings that month (3 marks)

0N
&Qﬁ. vo lines L and L, intersectata pomnt . L passes through the poinis {-4,0) and (0,6). Giventhat L,
@\\ has the equation: y=2x - 2, find, by calculation, the coordinates of P. {3 marks)
o : . |
<<0 \Q 16. The figure below represents a prism of length 7em.
N\ AB=AE=CD=2cmand BC=ED=1cm P

Draw the net of the prism (3 marks)

17. The distance between towns M and N is 280km. A car and a lorry travel from M to N. The average
speedufthelmryiszﬂkm"hhssﬁmtbatafﬂmcmlhelmryhkaslhﬂﬂminmumthanﬁcmtn

trave! from M to N.
(a) Ifthe speed of the lorry is x km/h, find x (5 marks)
(b} ThelomrylefttownMat8.15am. The car left town M later and overtook the lorry at
12.15p.m. Calculate the time the car left town M. (3 marks)
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18. Thediagram below represents a rectangular switnmi [25m long and 1 i i
e sq(nfmnngpoo ong, Om wide. The sides of

.\OQ
. ©
@A\ QO
L
\
T@@f&mpmisimmﬁfomﬂymh@ﬁm@ﬁﬂw%wmm1mmmmedaepmi
is2:
K&Q.%\ﬁb amuiateﬂ:evnlmmefuﬂerquﬂmdmmpietelyﬁﬂthepml {3 marks)
&®§E@) Waterisaﬂﬂ_wadhmﬁiempﬂo!mamnmmmm:ghaﬁlﬂpipt.hmkm?homfm
(@ \ the water io just cover the entire floor of the pool
\ Calculate:
i) ﬂmvﬂ]mufﬂmw@:rﬂmtjustmvmtheﬂamafﬂwmﬂ! (2 marks)
fii} ﬁmﬁmmﬂedtommpiﬂelyﬁ!lﬂmmﬁningmﬂfﬂmpmi {3 marks) |

19, Aboat at point X is 200m to the south of point Y, The boat sails from X to another poi intZis
. : point Z. Point 7 is
200m on a bearing ¢f 310° from X. Points X, Y and Z are on the same borizontal plane.

(a} Calculate the bearing and the distance of Z from Y (3 marks)
(B} W isthe point on the peth of the boat uearest to Y. Calculate the distance WY (2 marks)
) ﬁverﬁcaltﬂwerstandsatpnim‘{.ﬂwang!mfdeprtsﬁmofpuhat)iﬁ‘mntbeﬂa‘ﬂ:eﬁamis
60°. Calculste the angle of elevation of the top of the tower from W.  {3marks)
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